ik%E COM-L

M

SRR B Cnikshie, #FEEEE)
[ e 7 L.

© HTFIEH S,

© BEEL, AR AR

o R, AR R R .

ks . RS 615 511 25, IKE COM-L,
25 mm

AR i S HKERLLF BRI 22 i85S
B R )
Mo B DIN 912 12.9

I ] d D Ly L c* L, T Fax Pu Py Ta

mm mm mm mm mm mm Nm kN N/mm2  N/mm2 K x ]t Nm kg
61551125 25 55 32 40 4 46 810 65 288 98 6 x M6 x 35 17 0,35
615 511 28 28 55) 32 40 4 46 950 65 268 102 6 x M6 x 35 17 0,42
615 511 30 30 55 32 40 4 46 970 68 241 98 6 x M6 x 35 17 0,40
615 511 35 35 60 44 54 5 60 1240 70 157 83 7 x M6 x 45 17 0,60
615 511 38 38 75 44 54 5 62 2780 145 263 117 7 x M8 x 50 41 1,15
615 511 40 40 75 44 54 5 62 3020 146 293 121 7 x M8 x 50 41 0,59
615 511 42 42 75 44 54 5 62 3150 151 248 116 7 x M8 x 50 41 1,25
615 511 45 45 75 44 54 5 62 3390 151 261 121 7 x M8 x 50 41 0,74
615 511 48 48 80 56 64 4 72 3920 159 161 96 8 x M8 x 55 41 1,30
615 511 50 50 80 56 64 4 72 4110 163 156 97 8 x M8 x 55 41 1,26
615 511 55 55 85 56 64 4 72 4370 164 137 89 8 x M8 x 55 41 1,36
615 511 60 60 90 56 64 4 72 6320 211 167 11 10 x M8 x 55 41 1,46
615 511 65 65 95 56 64 4 72 7100 217 160 109 10 x M8 x 55 41 1,55
61551170 70 110 70 78 4 88 11730 314 184 117 10 x M10 x 60 83 29
61551175 75 115 70 78 5 88 11900 340 159 104 10 x M10 x 60 83 3,0
61551180 80 120 70 78 5 88 16400 392 196 130 12 x M10 x 60 83 33
615 511 85 85 125 70 78 5 88 16600 400 175 119 12 x M10 x 60 83 34
615 511 90 90 130 70 78 D) 88 18000 400 169 116 12 x M10 x 60 83 35
615 511 95 95 135 70 78 5 88 19000 412 160 112 12 x M10 x 60 83 3,7
61551200 100 145 90 100 6 112 27900 559 165 113 12 x M12 x 80 145 55
* TEGUBALP AR, FITR LRI CRE R
W A2d=300mmEA K, HFE 9444, 000Nm IS mT e
s ARk HL i
T A
P {41 71
Py IR
Py BBEKEIE S
T, BRI

e & 7 iyl

Hihs, HBH. ﬁ%@,ﬁ%ﬁﬁﬁiwﬁﬁﬁﬁ Mﬁ@ﬁ%wﬁﬂ,#%Em%Aﬁﬁ%é%M%ﬁﬁ(ﬁﬁ*@m)E
R A R, BK12.5 . =tk . 2 L 5sE BE

SR [ MRET

MV |
MADLER® 325

GEGRUNDET 1852




